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Question 13

Please see the mark scheme.

Commentary
Take notice of the Additional Guidance if it is not immediately clear what mark to give.

Question 10

No examples available

Commentary
If both values are correct it is not necessary to see any method.

Question 8
No examples available
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Question 15

15 Trapezium ABCE is made from parallelogram ABCD and isosceles tnangle ADE.
AE=DE
A : B Not drawn
110 accurately
|
E ' D [

Work out the size of angle AED.
[3 marks]

Answer degrees
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Student A

15 Trapezium ABCE is made from parallelogram ABCD and isosceles triangle ADE.
AE = DE
8 Not drawn
110 accurately
1
1
c
Work out the size of angle AED.
i [3 marks]

_ mdepo 1§0-140=20

Answer 20 " degrees

Commentary

The first line of Additional Guidance gives information about how angles need to be identified. Note
also that when there are many ways to award a mark, only one of them is needed. Here angle
ADC is identified on the diagram as 110° and angle BAD is identified on the diagram as 70°. Either
of these scores the first M mark, but do not award 2 marks even though there are 2 angles correct.
Neither of the angles required for the second mark are identified.

1 mark
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Student B

15 Trapezium ABCE is made from parallelogram ABCD and isosceles triangle ADE.
AE = DE
A B Not drawn
\110 accurately
| 1
E J D C
Work out the size of angle AED.
[3 marks]

180 ~ 1 LO = _'}O_ M 0 -

Answer  3FQ ~ degrees
Commentary
No angle is identified through notation or on the diagram.
0 marks
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Student C

15 Trapezium ABCE is made from parallelogram ABCD and isosceles triangle ADE.
AE = DE
B Not drawn
w accurately
1
c
Work out the size of angle AED.
[3 marks]

1Bo 70 = )lo — 20 =40
(% 7 i

R ———— il
I/

Answer 70 A0 degrees

Commentary

Angle ADC is identified on the diagram (first M mark).

Angle EDA (and angle EAD) is identified on the diagram (second M mark).
Although 40° is seen in working the student has selected 70 as their answer.

2 marks
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Question 6

6 A and B are similar shapes.
B is an enlargement of A with scale factor 1.5

Not drawn
accurately
A B
9cm
N
5cm i
Work out the values of x, h and w.
[3 marks]
x= degrees
h= cm
w= cm
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Student A

(] Aand B are smilar shapes,
EI‘H-EH-&"IEBI‘Q&ITETH of & wih scale faciar 1.5

Mot drawn
M " aocurately
¥ acm
5 cm b
Wiark oul the valees of ¢, b and w,
[} marks]
PRI L
Bxlpe 5 ,
Asdsph=F] . =t
| degrese

b F BT

Commentary
The answer lines allow 1 mark.
1 mark
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Student B
[} A AN B e simidar tl'ﬂl:ﬂi.
B i an anlargament of & with scaks factor 1.5

Mal drawn
A B accurabaty
Sem
SCom 3
Wiork out the values of o i @nd w
[3 marks]
1218 AN e O Y B 1
- moGEilef
hz§xle=9 ol L0, R
_q._lﬁ;.:_':'l = I'i'_'F_-.
e L A0 R
- L 5 Cegrecs
b : S o
W= E ¥ &n

Commentary

Although the answer lines are incorrect, the first line of Additional Guidance allows for transcription
errors. The working clearly has 4 = 7.5 and w = 6 so 2 marks can be awarded.
2 mark
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Question 19

19 Here is a right-angled tniangle.

Mot drawn
accurately

X cm
7.2cm

—

9.6 cm

Showthat x=12
[2 marks]
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Student A

19 Here is a right-angled triangle.
' ’{ Mot drawn
accurately
7ot
™
rcm
7.2cm
9.6 cm

Showthat x=12

Fi'm#a 5 Lf@ﬂ
[80™=95- 9O

2 2 2
A+ B - C=

967 § x - 192
qalt+ X =51 %4

[2 marks]

E”F—'i

Commentary

Although the penultimate line of working is not correct, sight of 9.6% and 7.22 is sufficient to award
B1.

1 mark
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Student B

13 Here is a right-angled triangle.

Mot drawn
accurately

X em

7.2cm
96 em
Show thal  x =12 M 2
B 1 2 marks
2. 3 iy T B SRS,

Commentary

In a ‘show that’ question students who arrive at (in this case) 12 do not always score full marks.
Here, the 3rd line of Additional Guidance shows that this response does not score B2 because
there is an incorrect statement.

1 mark
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Student C

19 Here is a right-angled triangle.
Mot drawn
acourately

7.2 em

3.6 cm

Showthat x=12
airbl*{i
at -7.2 x7.70 =51849 g
h® - 9.6 <q-6 92 .1¢

[2 marks]

R W:J’??E

Commentary
This student obtains 12 but the working is not fully correct. The 12 was given in the question and

the question is a ‘show that'.
1 mark
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Question 19

No examples available

Commentary
Note that all three boxes need to be correct for 2 marks.

Question 14

14 The scale drawing represents a garden.
Water from a sprinkler at P reaches up to 20 metres from P.
Water from a sprinkler at Q reaches up to 25 metres from Q.

Scale: 1 cm represents 5 m

Using a pair of compasses,

show the region that water from both sprninklers reaches.
[2 marks]
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Student A

14 The scale drawing represents a garden.
Water from a sprinkler at P reaches up to 20 matres from P.
Water from a sprinkler at Q reaches up to 25 metres from Q.

Scale; 1 cmrepresents & m
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Using a pair of compassas,

show the region that water from both sprinklers reaches.
[2 marks]
Commentary
Both arcs correct but the region is not identified.
1 mark
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Student B
14 The scale drawing represents a garden.

Water from a sprinkler at P reaches up to 20 metres from P.
Water from a sprinkler at Q reaches up to 25 metres from Q.

Scale: 1 cmrepresents 5 m

by k18 ! R T
SERNE [ v S SN OO O OSSN SO | S
|8 3 ' N R i
- i n o
Jeose e bt B WANY e
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Using a pair of compasses,
show the region that water from both sprinkiers reaches.
[2 marks]

Commentary

Full circles are not required. The Additional Guidance (line 2) gives information about how the
student can identify the region.

2 marks
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Student C

14 The scale drawing represants a garden.
Water from a sprinkler &t P reachas up to 20 meires from P.
—

Water from a sprinkler at Q reaches up to 25 metres from Q.

Scale: 1 cm represenis Sm

i
e o o e e e

Using a pair of compasses,

, show the region that water from both sprinklers reaches.
[2 marks]

Commentary
Neither arc has a radius within the required range.
0 marks
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Question 11

No examples available

Commentary
25.8... means that 25.8 is acceptable as is any answer that starts 25.8 eg 25.827

Question 7

No examples available

Commentary
Note that an answer in terms of pi is needed for both marks to be scored.

Question 7
7 The diagram shows rectangle ABDE and right-angled triangle ABC.
AC=17cm
BC=8cm
Mot drawn
A E accurately
17 ecm
-
B 8 cm C D
BC:CD=1:2
Work out the area of rectangle ABDE.
[4 marks]

Copyright © 2021 AQA and its licensors. All rights reserved.

17 of 26



Student A

) The diagram shows rectangle ABDE and right-angiad triangle ASC.
AG =1F em
BC =8 cm
Mot drasn
A E sccurately
17 cm
—

8c:Ch=1:2
Woek out the area of rectangle ASDE. " |

§ 3t = 35
35 = Wb ol

_Lile= 2k

Commentary

The working would score MTMOMOADO but there is a special case (SC) and this answer is in the
range given. When there is a choice of 1 mark from the scheme or 2 marks from the special case,
always award the higher mark.

2 marks
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Student B

T

Tha diagram shaws ractangle ABDE and right-anglad friangle ABC.

AC=1Tcm
BC=8cm
Mot drawn
A Bcourabsy
1T om
15
-
&8 8em
8C;Ch=1:2
Work out the amsa of reciangke ABDE. i
[4 marka]
Claohb’
13 =gfig?® _prTis B X\
_ﬂﬂ:ﬂn"*ﬁ-‘r !'_1 |
_2EQ-o%=E0S IH |
JEs =13 |
o
Ao
Angwar S0
Commentary

The student scores the first 2 marks but then only works out the area of the triangle.

2 marks
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Student C

) The diagram shows rectangle ABDE and right-angled trisngle ASC.
AC=1Tcm
BC=8ecm
ot ceeram
A E Bocurabity
T 8 i7cm
4
B Bem © [T D
- 3700, -
BE:80D=1:2
Work out the arsa of rectengie ABDE,
[4 mearke]
Bre = lbom -
Etib = 320
o
n'l _I_ -E‘T-. =,L'-_1'- ]
Li-gfont Sitm = + LDemt

171 =a%= bt o [~

249 - 6L %!

Wz 219 M
b= :Ell"::- = 15
£
Aruswar LBO o il
Commentary

The first 2 marks are awarded. At first it appears that 15 x 32 is an incorrect method for the 3rd M
mark. However on line 2 the student has shown their method but have made an arithmetic slip.
Therefore, as the correct method is shown the 3rd M mark can be awarded.

3 marks
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Question 16

16 (a) BCDis a straight line.
Triangle ABC is equilateral.

CE=DE
Not drawn
accurately

E
A
B C D
Work out the size of angle x.
[4 marks]
Answer degrees
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Student A
16 (a}) BCDis astraight line.

Trianghe ABC is squilatersl
CE=DE
Nol drawn
acourataty
E
28"
A
PR é
& c o
M 0
Wark cul 1he size of anghe x. s s
23 - 180 NS S
. gaage He O W1
13- :“5 2- 104 _Mdep 0
i) == b
Andwer 5 g/ o degrees

Commentary
The 2nd M mark is not dependent on the first M mark so can be awarded. (MOM1MOAO)
1 mark
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Student B

16 {3} BCD s asiEight line,
Trianghe 480 s aguilataral.

CE=[DE

Mol dranvn
acgurately

&
M ¥
Wk oul the sze of angle ©.
M i 4 marks]
'I'j
E e e L £
| I__l_ =T
B A — MdEpg 1
1o -(1F+eOy=F
Xkl  an
Answar Wl Cegres

Commentary

The 1st M mark is awarded as 60 is in an appropriate place on the diagram (see line 1 of
Additional Guidance). The correct method is shown for the 2nd M mark so it doesn’t matter that the
calculation has been worked out incorrectly. The 3rd M mark also has the correct method shown
as the student uses the correct angle of 60 and uses their 76 (which in this case is 78)

3 marks
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Question 28

28 Here are two solids.

Cylinder
radius 4 cm height 10 cm

A~

\-\_‘-hh._—_._n—'-'_’/l T
10 cm
«— 4 cm —»
Hemisphere
radius 6 cm

«— G cm —

volume of a hemisphere = % M where ris the radius

Which solid has the greater volume?

You must show your working.
[4 marks]
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Student A

Which solid has the greater volume? bot
You must show your working.
[4 marks] |
% Terxh =TT 4 4 h = LT = 10
= 60 Cyuwper)
! i
Weaicuee: P > © 730§ ° 26
v gt = R3¢ xb = 21T o 6
I\"Ll L :__2.'__!. 36
3 | 3 3 lg O M,
=g 5 - §30T =21 ¢ |n
Ay f fo
e
Answer _Tlae Jagiail p e '
Ao r(’L ' '
~3l§ EeH
21¢ , 431, 864 ~L® scH
1y 2 S
|
0s 6
2 [rh's
Commentary

Method is correct for both volumes so the first 2 M marks are awarded. There is an arithmetic error
processing the volume of the hemisphere so the first A mark is not awarded. As both M marks
have been awarded there is a follow through (ft) A mark and this response qualifies for this mark.

3 marks
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Student B

itk e
Which solid has the greater volume? =
You must show your working.
[4 marks]
V ofa cylindec= hrfiv?)”
| 0 x (3x8F = 0K U8 = 480 em>
b :'
_ 2
vV of a hguisphere = suc
"i'_“ } y 53 = y]cg'?' = 2X72é = 432-‘-‘&«
4 1 2 MO
o M|
o
Ao
Answer @ tlindec hes the qeajer valume.
v

Commentary

An incorrect formula has been used for the cylinder’s volume so the 1st M mark is not awarded.
The 2nd M mark is not dependent on the 1st M mark. 3 is an acceptable value for pi in the 2nd M
mark (see RHS of this mark in the mark scheme)

1 mark

Question 17

Please see the mark scheme
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